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(SECTION A)
6.

Compound (A), CgHoBr, gives a white
precipitate when warmed with alcoholic
AgNO;. Oxidation of (A) gives an acid (B),
CgHsO4. (B) easily forms anhydride on
heating. Identify the compound (A).

CH,Br
CZHS
W@ e
Br

CH,
CH,Br

CH,

In the reaction sequence 2CH;CHO
—9% 5 A —25B;the product B is:

(A) CH3—CH, -CH,-CH>-OH

(B) CH3—-CH=CH-CHO

(C) CH;—CH, —CH,—CHj4

i

(D)
CH, —C—CH,

In the following sequence of reactions,

CH;CH,OH —%» A — B
Heno_, ¢ —%2 5 D. The compound ‘D’

is

(A) n-propyl alcohol (B) propanal

(C) butanal (D) n-butyl alcohol

In Cannizzaro reaction given below

2Ph CHO —51, PhCH,OH + —2<0
the slowest step is :

(A) The transfer of hydride to the carbonyl
group

(B) The abstraction of proton from the
carboxylic group

(C) The deprotonation of PhCH,OH

[C]
(D) The attack of : OH at the carboxyl
group

Which one of the following undergoes
reaction with 50% sodium hydroxide
solution to give the corresponding alcohol
and acid ?
(A) Phenol
(C) Butanal

(B) Benzoic acid
(D) Benzaldehyde

The compound formed on heating
chlorobenzene with chloral in the presence
of concentrated sulphuric acid is

(A) gammexene

(B) DDT

(C) freon

(D) hexachloroethane.

Ozonolysis of an organic compound 'A’
produces acetone and propionaldehyde in
equimolar mixture. ldentify 'A' from the
following compounds :

(A) 1-Pentene

(B) 2-Pentene

(C) 2-Methyl-2-pentene

(D) 2-Methyl-1-pentene

On vigorous oxidation by permangnate
solution (CHj3),C = CHCH,CHO gives

(A) (CH3),CO and OHCCH,CHO

(B) (CH, )2(|3-(|3HCHZCHO

OH OH
(C) (CHs),CO and OHCCH,COOH
(D) (CH3)>CO and CH»(COOH),

p-cresol reacts with chloroform in alkaline
medium to give the compound A which
adds hydrogen cyanide to form, the
compound B. The Ilatter on acidic
hydrolysis gives chiral carboxylic acid. The
structure of the carboxylic acid is :

CH,
(A)
CH,COOH

OH
CH,
CH,COOH
(B)
OH
CH,
(C)
CH(OH)COOH
OH
CH,
CH(OH)COOH
(D)
OH

Xo.m !”-!!!!!!!! 35!;”!114

https://prernaeducati



JEE CHAPTER-WISE TESTS

14.

15.

16.

17.

18.

19.

10. In conversion of 2-butanone to propanoic
acid which reagent is used.
(A) NaOH, Nal/H®
(B) Fehling solution
(C) NaOH, I,/ H®
(D) Tollen's reagent
1. Which of the following reagent on reaction
with conc. NaOH followed by acidification
gives following lactone as the :
0
1>
o/
i i
C-0CH, C-0OH
w I CIg
ﬁ—OH ﬁ_H
o ¢
[l Il
C—H C-0OH
©) @[ o)
C-H C-OH
I |
o)
12. In the following reaction sequence :
1 )
(C; H, Cl,)—=lsy S 1y
Anhy.ZnCl, +Conc.HCI g'VeS tu rbldlty
immediately
The compound I is :
CH, ~CH-CH,
A I
Cl Cl
Cl
|
(B) CH, —(|?—CH3
Cl
(©) Cl—C|H—CH2 —CH,
Cl
(D) CH, -CH, -CH,
| |
Cl Cl
13. A compound of molecular formula CgHgO,
reacts with acetophenone to form a single
crossaldol product in the presence of
base. The same compound on reaction
with conc. NaOH forms benzyl alcohol as
one of the products. The structure of the
compound is :
/CHO 1
W, @ oy
CH,O' CH:
o 0
© @kom ©) /O)Lcm
HO
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Phthalic acid reacts with resorcinol in the
presence of concentrated H,SO, to give :
(A) Phenolphthalein (B) Alizarin

(C) Coumrin (D) Fluorescein

Cyclohexene on ozonolysis followed by
reaction with zinc dust and water gives
compound E. Compound E on further
treatment with aqueous KOH yields
compound F. Compound F is :

(A) Q—CHO

(C) Q—COOH

Which one of the following reactions will
not result in the formation of carbonation
bond ?

(A) Reimer-Tieman reaction

(B) Friedel Craft's acylation

(C) Wurtz reaction

(D) Cannizzaro reaction

PH-C-NH, —%%, Product,

|
0

(A) Benzonitrile
(C) Chloro benzene

(B) Benzamine
(D) Aniline

The carboxyl functional group (-COOH) is
present in :

(A\) picric acid

(B) barbituric acid

(C) ascorbic acid

(D) aspirin

Match each of the compounds given in
Column | with the reaction(s), that they
can undergo, given in column Il

Column I
Br|(p)| Nucleophilic
substitution

Column I

(A)

4

(B)

OH (q)|Elimination

5

(©) CHO (r) |Nucleophilic
@: addition
OH
(D) Br (s) |Esterification
with acetic
NO, anhydride

(t) |Dehydrogenation

A)(A)-p,q,t;(B)-p,s,t;(C)-1,s;(D)-p
B)(A)-p,q,t;(B)-p,q,r;(C)-r,s;(D)-

C)A)-p,a,t;(B)-a,s,t;(C)-r,s;(
D) (

p
q
D)(A)-p,a,t;(B)-p, s t;(C)-s,t;(D)-p

D)-
D)-
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20. The correct statement about the synthesis (C) The synthesis requires four aldol
of erythritol (C(CH,OH),) used in the condensations between methanol and
E)'gjpalll_’ﬁtion oftI?]ET_N is: _ t ol ethanol.

e synthesis requires two aldo . .
condensatio);]s and ?wo Cannizzaro (D) The synthesis requires three aldol
reactions. condensations and one Cannizzaro
(B) Alpha hydrogens of ethanol and reaction.
methanol are involved in this reaction.
(SECTION B)

21. Examine the structural formulas given 27. How many amide isomers exist for
below and identify number of compounds C,HsON that do not form amine on
which are reduce by NaBH,. .

treatment with Bro—NaOH.

o o o

O O,
e o) 28. Examine the structural formulas of

® (i) (i) )
o compounds given below and identify
\j\ﬂ , Ao, . O-:N—H . /\n/c1 number of compounds which show
& v (viif) (x) ((:) positive iodoform test.

22.  The number of chiral centers present in [B] A A A /Y \>f/ﬂ\
is
Q_CH . (i) C;H:MgBt N H

T (@)HO ‘ . )L\/JL
o e L s a
Sl
i) H,O
29. Of the following carbonyl compounds, how

23. Number of reagents which converts CH;z — : .
CHO into carngylic acid or its salt: ’ many would give Aldol condensation
(A) Cu/573 K (B) Fehlling’s reagent reaction.

(C) Tollen’s reagent (E) NaOH/I, 0 0 0
(F) Bayer's reagent (G) H®/KMnO,/D HyC—C—CH, @—(‘?‘--—CH;, @H‘—M
(H) H./Pd ( ) H®/K2CFQO7/A 5 —
(J) OH /A CH; O

i HA(‘A'»E'.‘—H‘ /\g/\

24.  Find out number of substrates those e CH

cannot undergo Cannizzaro’s reaction. ‘
o, o} 0 o 0 o0 0
] I I I ol
H—C—H, Ph—C—H , H,C—C—H, C—CH, ,H—C—C—H @)\iu\ phMH
] O » |
[¢] E 0 0 o o0 O
AT & I 1B P 0 S i
25. How many carbon-carbon double bonds 30. o
. are present in the end product, Z? —— ;ph_E_CH, oty BN, G b oo,
Br
M O™ v A Ly LIAH, -z Reacti(m-Z:/K( mcm-cac-cm
(|) Br
Reaction-3 : Ph - CH -(|:H2, [FNanbp . _ BT ipy_CmC—Et

26. 10 moles of CH; — (CO) — CH, — (CO) - ol
CH; are treated with 8 moles of CH;MgBr X, y, z are moles used.
followed by hydrolysis. How many moles Sumof[x+y+z=]
of diol will be obtained?
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